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1. Which	of	the	following	is	true?
(i) 0.5−0.1=0.6 (ii) 0.9÷0.8=0.72 (iii) 0.6÷0.5=1.2 (iv) 0.9−0.8=1.7 (v) 0.2+0.1=0.1

2. Which	of	the	following	is	true?
(i) 0.05÷0.02=0.0010 (ii) 0.02−0.01=0.03 (iii) 0.09÷0.03=0.0027 (iv) 0.09÷0.08=1.12

(v) 0.09+0.03=0.06

3. Which	of	the	following	is	true?
(i) 0.006÷0.003=2.000 (ii) 0.009✕0.005=1.800 (iii) 0.005−0.004=0.009 (iv) 0.008÷0.005=0.000040

(v) 0.008✕0.007=1.143

4. Which	of	the	following	is	true?
(i) 0.0008✕0.0003=2.6667 (ii) 0.0004✕0.0001=4.0000 (iii) 0.0007✕0.0001=7.0000

(iv) 0.0007+0.0003=0.0004 (v) 0.0002−0.0001=0.0001

5. Which	of	the	following	is	true?
(i) 64.5+60.6=125.1 (ii) 54.8+38.8=16.0 (iii) 56.6✕32.0=1.8 (iv) 100.0✕66.1=1.5 (v) 77.1✕40.7=1.9

6. Which	of	the	following	is	true?
(i) 36.39÷29.38=1.24 (ii) 55.10−31.46=86.56 (iii) 83.27÷77.81=6479.2387 (iv) 47.97−15.61=63.58

(v) 56.83−1.01=57.84

7. Which	of	the	following	is	true?
(i) 87.796+17.266=70.530 (ii) 67.794÷2.780=188.467320 (iii) 67.314÷35.395=2382.579030

(iv) 52.378÷42.088=1.244 (v) 27.549÷10.756=296.317044

8. Which	of	the	following	is	true?
(i) 81.2662✕37.8366=2.1478 (ii) 50.5646+39.3109=89.8755 (iii) 79.6198÷12.2960=979.00506080

(iv) 41.6732+5.6693=36.0039 (v) 82.2694✕43.4839=1.8920
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